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| SECTI
MATHEMATICS

-11
MATHEMATICS
5 3o n %= s Iq
if the length of diagonal is 13 ?.}’x\/féu\;é—":u".‘x(’\30':"’0-’74.—&/":' 26
i g § cm. rob
26. Find the length of side of a squarc. if the ) " @ F12 ()
3Vy2em 4
(1) 12 cm @) 6543 cm @) 134 @13 cm, ﬂ F13 ) @
. ’ e P
27. 27% of 4560=7  [choose two correct options] | (_;;_f.,,s:"b’:—ﬂ’?g ") Sl QR AR 27
-2 (1)
(1) 12312 x 1072 (2) 123.12 123.12 (2) 12312 x 10 (m
= . 2312 G
3) 12312 4 12312 x 107 12312 x 107 (4) .
po > s A3 E G0 28
p N3] 5172 JSisiss 4027 L =
28. A fruit seller purchased 50 dozen bananas at Rs. 40 per dozen and solg them vuﬁ‘f”"z%"52{5\’““‘4"—)‘]‘5—‘/{’ SUGT;‘I}L“{( v 43 V:b;/’
all at Rs. 52 per dozen. What was his profit percentage? "‘{"‘I“.'"“Ju“.“"“‘év MM SRS
2002 26% (1)
0% (2
1) 26% @) 30% (3) 2% (4) 28% b

28% (4) 32% (3)
f\ rope of length 4?0m' m c.u( (}o\:n at 6 places at same distance. Then whay ‘Jrﬁo"zdwfs 7},;&(;,.":5.5:\/‘;.:-\'5‘ ;. :’(J‘z);’/:i-{'u‘ﬂﬂﬂ 29
is the length of cach picce in cm? 70 (2) 7000 (1)
(3) 700 4 6000 6000 (4) 700 (3)

(1) 7000 (2 70

Which of the following statement is not true? [choose two correct option]

(-;f;.,i:'I{;J:g;kél:) ‘-‘fb’f\;'-"fia":'-"';—vt""u-'“i“’t; 30
(1) The diagonals of a rhombus bisect each other. BT ST SRS (N ()
(@) The diagonals of a rhombus are perpendicular to each other. | Uil pufinl o (2)
(3) All angles of rthombus are congruent.

P o -
Gln e il g (3)
(#) The diagonals of a rhombus are congruent.

GlafErl g (4)
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31. A side of cube is 12cm. Such three solid cubes arc melted to form 5 Cuboiq_

If the base area of the cuboid is 144 sqcm then what is the height of that LG ¥ VAU AL IEL AL esf L A 12 &g AL 31

cuboid? [choose two correct option] s éyf?'(&”-‘?é-’) g-bfﬂgljli,,(f__,fw;‘;(d/ 144 2}(&5

(1) 36cm (2) 0.36m 2036 ) 36 (1)

(3) 12cm (4) 0.12m | . ko1 12 ()

. . . 0
32. Which of the following statement is correct? | s‘é_pufu.lr, é;,:,tgﬁ J_; 12
| ?
43 . !
. 4 . ) tf : : - -

(1) The rational number 70 son the left side of zero, on the number line. ;b:-./lg;ﬂﬁ /’I{J,;dmum}" (= % (1)
i P sisen P, 1T

(2) The rational number :—g is on the left side of zero ,on the number lipe, { et VL Py psbon et Ty @

e trb bl poy s man s % 3

27 .
i — i the right side of zero on the ber i N
(3) The rational number 2 is on the rig number line. qux;/lgd‘v?L/'“’{UdU“"/"z % l ’3§ ()
-8 3 . .
4) The number — and =are on the same side of zero, on the number line. . TN
@ 3 7 ne ,,,71,@({{&(0&”&‘/1_9[]OGWL:WJU::(/GWJU’(/LK/JLZufd"’v.’:/' 33
sl SUsT
33. The number of boys in 8th standard in the school are less by 10 than twice © 61 (2) 44 (1)
the number of girls. If the total number of students in the class is 71, then find 64 (4) 54 (3)
the number of boys?
(M 44 @ 61 : (e oI 362+ 5x + 1 SELUEEA A O -3+ 1 34
3) 54 4) 64 2 + 8x (1)
' 2 - 8 - 322 ()
34. Which polynomial should be added in 2x° — 3x + 1 to get the polynomial
5 L 23 - 8x (3)
3x° + Sx + 17
5 25 + 8+ 3 (9
(1) 25 + 8x (2) 20 - 8x — 3x2
3) 225 — 8x @) -22% + 8x + 322
SPACE FOR ROUGH WORK Lol Levss
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35.

36.

37.

39.

Few chocolates are there in a bag. If these chocolates a.rc .dlstributcd equally
12 children then 8 chocolates remain and if equally distributed to 14 childre
then 10 chocolates remain. Then how many chocolates are there in bagy

(1) 30 (@) 28

(3) 80 4) 84

If the length of onc diagonal of thombus having side 25 cm, is 14 ¢y, then
what will be the length of other diagonal?

(1) 48 cm (2) 14 cm

3) 25 cm 4) 31 cm

Balbir Singh purchased a machine 2 years ago for Rs.62500. If the valye of

machine decreases by 8% per year, then what will be the value of the machine
today?

(1) Rs. 53,900 @) Rs. 52,900
(3) Rs. 52,800 (4) Rs. 52,700

- The measure of an inscribed angle of circle is 65°, then what will be the

measure of central formed by intercepted arc of that inscribed angle?

(1) 65° (2) 120°

@) 130° @ 2%

Onc shopkecper gives 8% discount on printed price of camera, if he sold the
camera for Rs. 4600 then what is the printed price of camera?

(1) Rs. 5000 (2) Rs. 4592

(3) Rs. 4608 (4) Rs. 4000

SPACE FOR ROUGII WORK
—_—

0211/ Urdu Set-A

12032 P.T.O.

Gl o 14 G dtues 87 LUt d,uu:ufﬂlzfu.‘ffw-u_wt_:fifufu&f_' 35
sdumod e Eees rgudiogs 107 e
28 (2) 30 ()
84 (4) 80 (3)
S‘Jmf@y({h;/u??fM JLJJF:\.QLQ‘-’-’,_{'LH&(’ 25 36
F14 @) F48 (1)
31 @) F25 (3)
S U nf 8% Jurad S fu it 62,500 S aod L vba 37
wdny=dde T
L9 52,900 (2) & 53,900 (1)
& 52,700 (4) £ 52,800 (3)
sbas e smenl sin 650 Pl ile i 38
120 () 65° (1)
4) 130° (3)
e AN 53) e 308600 o f Lo P92 les8% g St A5 39
sfuf=ddn Y
L4592 2) 247 5000 (1)
235 4000 (4) &2 4608 (3)
Lol Le¥s;
0211/ Urdu Set-A 13032 P.T.O.
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40.

What is the cost of fencing the circular garden of radius 21 m with three rouns
of wire, if the wire cost Rs. 60 per m?

(1) Rs. 2,3760 (2) Rs. 23,740
(3) Rs. 22,760 (4) Rs. 22,740

41. The ratio of mcasurc of complementary angle of onc angle with its measure gof

supplementary angle is 2 : 5, then what will be the ratio of that angle wig, its
supplementary angle?

(y 1:10 @2 1:5
3) 3:10 4) 1:15
42. 1If cach side of the equilateral triangle is 22cm, then what is the area of thy
trianglc?
(1) 66 sq. cm (2) 121 sq. cm
(3) 12043 sq. cm (4) 121/3sq. cm
43. Arpita scored 20% marks Iess than Ajay, then how many % marks Ajay scored
more than Arpita?
(1) 25% (2) 20%
3) 5% 4) 10%
44. 10.5x 105+ 15%x10.5+7.5x7.5 9
10.5+75
(1) @8 @) 17
(3) 3 4) 15
SPACE FOR RUUGH WORK
0211/ Urdu Set-A 140132 P.T.O.

L8602 61 A3 Ut SIPL e 221 Sidfih i 40

W T/ e
&2 23740 (2) &2 23760 (1)

s 22740 (4) I 22760 (3)

Ve esif ¥eisie 215 6P il Zom P fonisbl ikl 41

1 f
1:5(2) 1:10(1)
1:15(4) 3:10(3)

e Gka b e 22 QUSER L sl wonsofl 42
121 (2) 66 (1)
121f35q. cm (4) 12043 sq. cm (3)

oL Sret ki $E e o I i 20% = St 43
20% (2) 25% (1)
10% (4) 5% (3)

105x 105+ 15x 10.5+7.5x q.mu g 44
10.5+7.5

17 2 18 (1)
15 4) 3(3)

0211/ Urdu Set-A 150f 32 P.T.O.
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45. The difference of the sum of prime numbers and sum of composite Numberg

e i o o  divisible by which of the following nyp, - B L . B
in between 11 to 20 is completely divi . ° bers? “ 44}'.,\1;_u.m?.;w‘.-,'/i;,f3-.:/’=’C'\,‘.-',-’-,//‘.-'.’.."JC'M:/’.'G."_g,"y.:..—‘. 20c11 45
C 7 (D) 13

(A) 2 (B)S ( et

2) Band C
(1) AandB @ 13 (D) 7.(C) 5 (B) 2 (A
(3 Cand D 4) Aand D

e Cx»B(2) = BsA (1)
46. In fig. linc AB || linc CD and linc PR is their transversal. If we draw angle = DA (%) = D C(3)

bisector of both pairs of alternative angle then T PQRS is formed, Name the

type of 00 PQRS. - " ¢
1Ll Ui e EF. PR 4 BAB N B CD AFIE 46

‘-'#’.-f.(‘;‘u‘,;‘:({, Wizt i S

(1) Right angle quadrilateral J
(2) Kite
z (2) -
(3) Square - ) "
Sss (4) Cr (3
() Trapezium e
. 5 | S t/d 15550 TS S000 € Ao 2207 BEe L AN 7
47. The diameter of wheel of minibus is 0.7m. the find the distance covered by the L TESSRS w gRAL SN Sigtvid . 4
wheel in 5000 rotation. #512 2) #2£ 14
(1) 14 km @ 12 km AEI @) #£10 6)
(3) 10 km ) 11 km
SPACE FOR ROUGH WORK . Fis
R
211/ U
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48.

49.

51.

The measure of an angle is 140°, then which of the following statement is not

true?
(1) Can draw its complementary angle.
(2) Can draw its supplementary angle.
(3) Can draw its opposite angle.
(4) Can draw its linear pair angle.

=

The co-ordinate of point P is - on the number line. The distance between

point P and Q is 4 then which is the co-ordinate of point Q7 [choose two correct
options]

m =3 @ 35

5 1
(3 43 @ -5

By meclting of a solid cuboid of length 16cm, breadth 1lcm, height 10cm, how
many solid coins of 0.2cm thick and 2cm diameter can be formed?

(1) 2200
(3) 2600

(2) 2400
(4) 2800

The curved surface area of cone is 188.4 sq. cm. The radius of its base is 6
cm, then what is the perpendicular height of the cone? (m = 3.14)

(1) 6 cm
(3) 10 cm

(2) 8 cm
(4) 31.4 cm

SPACE FOR ROUGIH WORK

0211/ Urdu Set-A 18 of 32 P.T.O.

SHskolef¥ e 140° %mg\n&(.m 48
e F ol i (1)
e Ftbanil K1 @)
e Chlb ide6  (3)
e Lotb b2 %0 @
t.Pq\\\\.F.nnkC\ Q Eu.u\..tmﬂ_ 4 L\S.wr\tﬂ Q P ...\..|n.\$c«.u\ .l% Lwnm“.rv.th 49
(- _F= 58
4 5
1 5
-5 @ a5 (3)
Quﬁﬁ._\.\m_\ A::“:r\ﬂ\ 0.2 \\%Nuﬂ\n\.‘hh\_&i.u\.hrm__ﬂ\ 10 sleig " 11 .W\\ 16 50
spEeL e FLLPS
2400 (2) 2200 (1)
2800 (4) 2600 (3)
Sn S Sbs Ftie (6 Pisbotl e 2570, 1884 3K E1GS0FL 51
r = 3.14)
8 () 6 (1)
¢ 314 (4) ﬂ\ 10 (3)
Lol L v
0211/ Urdu Set-A 19 of 32 P.T.O.
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52, SSI2T + 64 = 2 [choose two correct options) { (£
. i ~E W B E 512417 5 6ax8 =
(1) 22 @ -8 f ceu JIZFS mgim B
| )
&) 280 @ 8 3 8x” (2) 23¢9 (1)
E 8x° (4) 239 (3)
53, The average age of boys in the class is 15.5 years, while girls average age is i
16.5 years. The average age of total students of the class is 16 years. It there Mol L2
¥ ge ag students L II0U VK 165 ot 2t W
are 30 boys in class then find the number of girls in class. ‘ o g ’K/'JU’!//"}—;)HS.S b ESUAS KO 53
) AT L UE N e 16 bn¥s
M 15 @ 16 i 9 e i ”
! 2 15 (1)
@3 30 4 60 1
@ i 60 (4) 30 (3)
[
54. The number 3 * [2] 6 is completely divisible by 3 and the digit at place of i 7 " -
) { el Yo olic | = 3 >
* is greater than 1 by the digit at place of [¢], then find the digit at place of | of ‘ A B oz "’:'r/(:JU)dA;'LB St 3*E16 54
* 9 { izl
(1 2) 2 } 2@ rm
9 (4 3
3) 6 @ 9 | (C)) 6 (3)
|

55. What is the sum of additive inverse of (7a + 2b + ¢) and additive inverse of ?Jnl‘fc"&jﬁ'g‘fé (Sa + 2b - 5¢) sl K (Ta + 2b + ©) 55
(5a + 2b - 5¢)? ‘ AGa+b o) (1)
(1) 4Ga +b o) * 4Bz -b-¢) ()

(2) <43a-b-c) 4Ba b <) (3)

|
(3) 4Ba b o ; 4Ba+b o) @
4 4Ga+b o ’
SPACE FOR ROUGH WORK Lol Levss
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56.

J1.96 + V289 - V225

=92

V0.00000256 ’
(1 10° (2) 1072
3) 10 & 10°
57. Karan has same number of notes of Rs. 20 and Rs. S0. He has Rs. 4900 in
total, then find the total number of notes he has?
(1) 70 2) 35
(3) 105 @) 140
58. The area of a square is 5.29 sq. cm, then what is its perimeter?
(1) 8.2 cm (2) 9.2 sq.cm
3) 23 cm 4) 92 cm
59. A cylindrical tank of basc radius 21cm contains water. In that water, a metal
block of length 22cm, breadth 18 cm, height 7cm is dropped then what is
increase in the level of water in tank?
(1) 2 cm (2) 3 cm
(3) 3.5 cm (4) 2.5 cm
60. In a circle with centre 0, chord of a circle is 30cm long, its distance from the
center is 8cm. Find the radius of the circle?
(1) 17 cm (2) 15 cm
(3) 16 cm 4) 12 cm
SPACE FOR ROUGH WORK
0211/ Urdu Set-A 220f32 P.T.O.

4,

V196 + V2.8 - V225 _ ”
J0.00000256

107 (2)
107 (4)

10* (1)
10' (3)

&2 4900 Az hﬁ_-&ﬁmc&hxﬂ:mo VAT e i Ly 020 S EES
ﬂ%smu_hc@@w&mmc‘wh%u.cm

35 (2) 70 (1)

140 (4) 105 (3)

ULV p e 205 5.29 368 L
(Br92 (2) ¢ 8.2 (1)
9.2 @) 23 (3)

118U 20 e Lt E e 21 Bl L FLi S s
?Pz_.z.qdm..,cﬂ AT, K Qlosts'y

3@ F2)

(2.5 (4) 3.5(3)

- B 0ig g bG8 A 30K L1 O
15 (2) 17
(12 @) ¢ 16 (3)

56

57

59

60

Lded Zevs;

0211/ Urdu Set-A 230f 32
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61. A hall has length 28 meter and breadth 10.5 meter For flooring this hall, square
tiles are to be used of half meter side then how many tiles are required?

(1) 1180

3) 1176

(2) 1150

@) 1126

62. Add the polynomials 5x* — 2x and 2x3 - 7. What is the degree of the sum of

these polynomials?
a7

(3) 12

81 x 27°

63, ——— =x" x=17
b X3 then x

Im 4

3) 2

2 3

)1

64. If the measures of two external angles of a triangle are 60” and 1307 respectively,

then which type of triangle is it?
(1) Acutc angled triangle
(2) Obtuse angled triangle

(3) Right angled triangle

(4) Equilateral triangle

SPACE FOR ROUGH WORK

0211 /Urdu Set-A

240f32

P.T.O.

g/

VO LT T p s o

Jiee 2105 Jl:gl;lﬂzxéyj_};jﬁ_g 61

‘.'J Ursas 5,;/; L);:z’)\! C) v"é'- L

1150 (2)

1126 (4) i1

f'{nl_/‘;/:{g’,z'u(;,’g"‘:/:” SN-20 -7

1180 (1)

76 (3)

set-2c 62
4(2) 7
5 (4) 12 (3)
% 2 2 2
.I—_, “2T - Cthenx = 7 63
g %3
3(2) 4.(1)
1 (4) 2(3)
ol B e 2 130 60 P il A B 64
2Ll (1)
Lo (2)
L AIAE (3)
cadugs
wled LN
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65,

66,

67.

Rohit made & profit of 6 percent when he seld a car which he bought for Rs.
500,000 How much total money did Rohit get after selling the car?

(1) R 220000

(2) Ry, 510,000

131 Re. 6,00,000

43 Rs. 530,000

The length of perpendicular sides of a right angle triangle are 7em and 24cm
respectively, then find the radius of it's circum circle.
(I 125 em (2) 25 cm

(3) 12 em (4 65 cm

There is decrease in sale of object by 10% due to increase in the cost of object
by 10°%, then what i< the profit percent or loss percent in this transaction?
(1 1% Joss

(2) 2% profit

13y 3% loss () 1.75% profit

sh deposited Rs. 32000 in a bank for two years on simple interest, After
wtynty he gets Rs. 38400, then what is the rate of interest?

{1y 12 pcpa

12) 15 pecpa

i3} 1% pepa

{4 10 pcpa

SPACE FOR ROUGIH WORK
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69. In the following frequency distribution, height of 20 students of a class is given.
From the given data find the mean.

Height(cm) 160 161 162 163
Number of boys 4 6 5 5
(1) 160 cm (2) 161.55 cm

(3) 162.5 cm (4) 161 cm

Question 70 and 71- The percentage production of crops jowar and wheat in four
villages is given in the following sub-divided bar graph. Observe the graph and
solve the following questions.

i Scale || L
L Yaxis lem=20% -
B & naant | i | P4 Jowar
R B2k I [JWheat |
100+ = ;
e V‘MOIll S —— S — _—
o %Al s |
PP |
20+
3 A SHBFECT 6. DX
. Villeges - —

70. The production of jowar in D village is more by how much than the village

B?
(1) 10% (2) 20%
3) 60% (4) 80%

71. Find the ratio of wheat production of village A and village C.

() 6:5 2 5:4
3 3:2 4 2:3
SPACE FOR ROUGH WORK
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i) fem e e T X | g pees et e o

el iSe M2 Sus B elzdUsE D 70
20% (2) 10% (1)
80% (4) 60% (3)

W Surd SUSE 'C s e Surd S A 71

5:4(2) 6:5(1)
2:3(4) 3:2(3)
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|

0211/ Urdu Set-A 29 0f 32 P.T.O.

Scanned with CamScanner



72. Which term should be added to 100,r7+;'—; from the following to make it W”r/‘:z"’{l’u’?vf)'éiLb.&/J(f_—,,yd,_.iuy l(x)x1+—';-;- -
)

complete square? [choosc two correct option]

(-g",:(,‘l’f"'lgaﬂ)?é;)
(1) +5xy (2) -5Sxy !
| =5xy (2) +5xy (1)
25x 25 'f 25 25
e 5 @ -=o : T @) Sl E)
73. If 18 labours take 15 days to complete one task, then how many days will | ?LLZLV&w,Z,,,, (,.,gd,;u,,-g/{lbfj; 15 Efinp 18 73
6 labours need to complete the same task? : I i X
| AU 90 (2) SUH3 ()
(1) 3 days (2) 90 days | : U 45 (4) LU 5 (3)
(3) 5 days (4) 45 days
','\j_.'c.c,';c_‘,':‘)_’}qﬁf_!zlé‘ji%’l (2x-3)3 + 125 74
74. From the following, select the factors of polynomial (2x — 3)* + 125. 2 (x + 1) (42 - 22x + 49) (1)
() 2 (x + 1) (42 = 22x + 49) (x + 1) (422 - 22x + 49) (2)

2 (x = 1) (@x% - 22x + 49) (3)
(x - 1) (4x% = 22x + 49) “4)

) (v + 1) (da% = 22x + 49)

(3) 2 (x = 1) (2 = 22v + 49)

@) (x - 1) @x% - 22x + 49) 0036 235 1 _, 75
06 005" 6
45, 0036 235 1 _, | 0.547 (1)
06 0056 ;_ 5 (2)
(1) 0.547 @ 5 1047 (3)
5.47 (4)
3) 0.47 @ 547
SPACE FOR ROUGH WORK
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